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2020
23 1 42 4,317| «
23 2 0 o K
8,401
[ O
2016 2017 2018 2019 2020
8,364.00 9,313.00 9,059.00 7,743.00 8,401.00 t
119,429.88  128,398.02|  122,957.52|  109,544.42|  125,457.44
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A 0/9/4]0 0 0 0 1
1 1 6 0 0 0 2
16,770.10 | m? 1 o1
- 0 |
[ ] O O
n O O
O O O
9 8 2 1 O | ]
O O O
2020
= x 0.0258 531 ki
= 1,030 |t
i} 12 |t
=+ 1,042 |t
2
1000/ 61.4 |kg-CO,/m
GJ
t
=( /1000)x = x  x44/12
| Nm® | 160,043.2 | 45.00 7,201.9 0.0136 359.1
LPG | kg 0.0 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
A | L 369.0 | 39.10 14.4 0.0189 1.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh [1,371,050.0 9.76 13,381.4 0.4890 670.4
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
20,597.8 1,030.6
| m® 18,246.0 0.2660 4.9
| m 18,246.0 0.4000 7.3
12.2
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C108
C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 0 0 2
1 1 6 0 0 0 2
1,974.00 | m? 1 o1
- O |
[ ] O O
[ ] O O
O O O
9 8 2 1 O O [ ]
O O O
2020
= x 0.0258 69 |kl
= 135 It
i} 1]t
= + 136 t
2
= x 1000/ 68.3 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 1.0 | 45.00 0.0| 0.0136 0.0
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 | 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh| 276,571.0 9.76 2,699.3 | 0.4890 135.2
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,699.4 135.2
O m® 2,413.0 0.2660 0.6
O m 2,413.0 0.4000 1.0
1.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204

A213
B103 B101
B106 B102

B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109

C110

C125

Cl114
D101 D102
D103 D104
D105 D108
E103 E101

E104

O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 0 0 3
1 1 6 0 0 0 2
4,420.00 | m? 1
- |
n O
[ ] O O
O O O
8 4 2 9 O O
O O
2020
= x 0.0258 123
- 239
i} 1
240
2
< 1000/ 54.0 [kg-CO,/m
GJ
=( /1000)x x 44/12
O Nm® 27,217.1 | 45.00 1,224.8 0.0136 61.1
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 O | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh | 364,750.0 9.76 3,560.0 | 0.4890 178.4
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
4,784.7 239.4
O m® 2,690.0 0.2660 0.7
O m 2,690.0 0.4000 1.1
1.8
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 0 0 4
1 1 6 0 0 0 2
1,382.50 | m? m 1
- |
n O
™ O O
O O O
9 8 2 1 O O
O O O
2020
= x0.0258 37
= 73
) 0
+ 73
2
x 1000/ 52.8 Jkg-CO,/m
GlJ
=( /1000)x x 44/12
o | Nmd 65.7 | 45.00 3.0| 0.0136 0.1
LPG O kg 0.0 | 50.80 0.0 0.0161 0.0
O L 0.0 36.70 0.0 0.0185 0.0
O 0.0
O 0.0
8 O | kwh 0.0 9.97 0.0| 0.4890 0.0
22 s | O | kwh 00| 9.28 0.0 0.4890 0.0
O | kwh| 149,228.0| 9.76 1,456.5 | 0.4890 73.0
17 3 kWh 00| 9.76 0.0| 0.4890 0.0
1,459.4 73.1
O m® 527.0 0.2660 0.1
O m® 527.0 0.4000 0.2
0.4
=( /1,000)x
x x )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 00 5
1 1 6 0 0 1
1,818.00 | m? 1
- O |
n O O
[ | O O
O O O
8 8 1 7 O O
O O
2020
= x 0.0258 57
= 111
_ 4
115
2
x 1000/ 61.0 Jkg-CO,/m
GJ
=( /1000)x x 44/12
O Nm® 31,489.7 | 45.00 1,417.0 0.0136 70.7
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 ] 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 | kWh 0.0 9.97 0.0 0.4890 0.0
22 | kWh 0.0 9.28 0.0 0.4890 0.0
| kWh 83,746.0 9.76 817.4 0.4890 41.0
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
2,234.4 111.6
| m® 6,172.0 0.2660 1.6
| m 6,172.0 0.4000 2.5
4.1
=( /1,000)x
=( X X )/1,000
=( / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




ACC
A 0 9 4 0 0 0/ 1 4
1 1 6 0 0 0 1
2,400.00 | m? 1 o1
- O |
[ ] O O
O O O
O O [ ]
8 2 1 9 O O [ ]
O O O
2020
= x 0.0258 69 ki
- 135 |t
i} 0t
= + 135 t
2
= x 1000/ 56.2 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 0.0 | 45.00 0.0| 0.0136 0.0
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh | 277,540.0 9.76 2,708.8 | 0.4890 135.7
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
2,708.8 135.7
O m® 853.0 0.2660 0.2
O m 853.0 0.4000 0.3
0.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t

ACC




A 0 9 4 0 0 0 1 6
1 1 6 0 0 1 4
2,311.28 | m? 1 o1
O I
O O
O O O
O O [ ]
8 0 2 2 O O [ ]
O O O
2020
= x 0.0258 62 ki
= 121 1t
i} 0t
= + 121 t
2
= x 1000/ 52.3 Jkg-CO,/m
GJ
t
=( /1000)x = x  x44/12
O Nm? 16,121.9 | 45.00 725.5| 0.0136 36.2
LPG O kg 0.0 | 50.80 0.0 o0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kWh 0.0 9.28 0.0 0.4890 0.0
O | kwh| 173,561.0 9.76 1,694.0 [ 0.4890 84.9
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
2,419.4 121.0
O m® 781.0 0.2660 0.2
O m 781.0 0.4000 0.3
0.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 94 0 0 0 1|7
111 6 0 0 02
F, F
2,796.90 | m? m 1 o1
O I
O O
O O O
O O =
8 0 2|2 O O =
O O O
2020
= x 0.0258 96 |kl
= 187 |t
) 0|t
= + 187 t
2
= x 1000/ 66.8 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
o | Nmd 8,780.1 | 45.00 395.1 | 0.0136 19.7
LPG O kg 0.0 | 50.80 0.0 0.0161 0.0
O L 0.0 | 36.70 0.0 0.0185 0.0
O 0.0
O 0.0
8 2 O | kwh 0.0| 9.97 0.0 | 0.4890 0.0
22 8 O | kwh 0.0| 9.28 0.0 | 0.4890 0.0
O | kwh| 342,319.0| 9.76 3,341.0 [ 0.4890 167.4
5 17 3 kWh 0.0 9.76 0.0 [ 0.4890 0.0
3,736.1 187.1
O m® 700.0 0.2660 0.2
O m 700.0 0.4000 0.3
0.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 0 4 0
1 1 6 0 0 0 1
912.17 | m? 1 o1
- O |
[ ] O O
O O O
O O [ ]
8 5 4 3 O O [ ]
O O O
2020
= x 0.0258 51 |kl
i} 21t
= + 102 t
2
= x 1000/ 109.6 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 9,151.3 | 45.00 411.8| 0.0136 20.5
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 | 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 | 0.4890 0.0
O | kwh| 162,933.0 9.76 1,590.2 [ 0.4890 79.7
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,002.0 100.2
O m® 3,150.0 0.2660 0.8
O m 3,150.0 0.4000 1.3
2.1
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 0 4 3
1 1 6 0 0 0 2
1,482.08 | m? 1 o1
- O |
[ ] O O
O O O
O O [ ]
8 5 5 9 O O [ ]
O O O
2020
= x 0.0258 38 |ki
= 75 |t
i} 0t
= + 75 t
2
= x 1000/ 50.6 Jkg-CO,/m
GJ
t
=( /1000)x = x  x44/12
O Nm® 3.9 | 45.00 0.2| 0.0136 0.0
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 | 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O kWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O kWh 0.0 9.28 0.0 | 0.4890 0.0
] kwWh | 154,791.0 9.76 1,510.8 0.4890 75.7
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,510.9 75.7
O m® 589.0 0.2660 0.2
O m 589.0 0.4000 0.2
0.4
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 0 8 7
1 1 6 0 0 0 3
1,237.38 | m? m 1
- |
n O
O O O
O O | |
8 2 1 9 O O
O O
2020
= x 0.0258 48
- 93
) 0
+ 93
2
. 1000/ 75.1 |kg-CO,/m
GlJ
=( /1000)x x 44/12
O | Nm®| 13,666.6 | 45.00 615.0 | 0.0136 30.7
LPG O kg 0.0 | 50.80 0.0 0.0161 0.0
O L 0.0 36.70 0.0 0.0185 0.0
O 0.0
O 0.0
8 O | kwh 0.0 9.97 0.0| 0.4890 0.0
22 O | kwh 00| 9.28 0.0 0.4890 0.0
O | kwh| 128,565.0| 9.76 1,254.8 | 0.4890 62.9
17 3 kWh 00| 9.76 0.0| 0.4890 0.0
1,869.8 93.5
O m® 424.0 0.2660 0.1
O m® 424.0 0.4000 0.2
0.3
=( /1,000)x
x x )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




21
Al 09|40 0 0 9 2
116 0 0 1 2
1,468.65 | m? m 1 o1
- 0 |
| | O O
O O O
O O | |
8 2 1 9 O O ™
O O O
2020
= x 0.0258 38 [kl
= 74 |t
) 0t
=+ 741t
2
= x 1000/ 50.3 Jkg-CO,/m
GJ
t
=( /1000)x = x  x44/12
o | Nmd 55.1 | 45.00 2.5| 0.0136 0.1
LPG O kg 0.0 | 50.80 0.0| o0.0161 0.0
O L 0.0| 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
g8 2 O | kwh 00| 9.97 0.0| 0.4890 0.0
22 s | O | kwh 00| 9.28 0.0| 0.4890 0.0
O | kwh| 152,444.0| 9.76 1,487.9 | 0.4890 74.5
5 17 3 kWh 00| 9.76 0.0| 0.4890 0.0
1,490.3 74.7
O me 681.0 0.2660 0.2
O me 681.0 0.4000 0.3
0.5
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0/ 940 0/ 0 9 3
1 1 6 0/ 0 0 3
4,181.91 | m? m 1
- 0 |
n O O
O O O
O O n
8 5 4 1 O |
O O
2020
= x 0.0258 204
= 396
_ 9
N 405
2
1000/ 94.6 |kg-CO,/m
GJ
=( /1000)x x 44/12
| Nm® 51,399.0 | 45.00 2,313.0 0.0136 115.3
LPG | kg 0.0 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
O 0.0
O 0.0
8 | kWh 0.0 9.97 0.0 0.4890 0.0
22 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 575,136.0 9.76 5,613.3 0.4890 281.2
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
7,926.3 396.6
| m® 13,942.0 0.2660 3.7
| m® 13,942.0 0.4000 5.6
9.3
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B103 B101
B106 B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E141
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 0 9 4
1 1 6 0 0 0 2
3,840.47 | m? 1
. I
n O
O O O
O O [ ]
8 5 4 1 O O
O O
2020
= x 0.0258 203
- 393
i} 11
+ 404
2
< 1000/ 102.3 [kg-CO,/m
GJ
=( /1000)x x 44/12
O Nm® 78,079.6 | 45.00 3,513.6 | 0.0136 175.2
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 O | kwh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh | 446,310.0 9.76 4,356.0 | 0.4890 218.2
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
7,869.6 393.5
O m® 16,920.0 0.2660 4.5
O m 16,920.0 0.4000 6.8
11.3
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 1 0 O
1 1 6 0 0 1 4
2,038.53 | m? m 1
: |
n 0
0 0 0
0 ] n
8 54 9 O d
0 O
2020
= x 0.0258 41
_ 1
+ 80
2
x 1000/ 38.7 |kg-CO,/m
GJ
=( /1000)x x 44/12
O Nm? 10,356.7 | 45.00 466.1 0.0136 23.2
LPG O kg 0.0 | 50.80 0.0 0.0161 0.0
O L 0.0 36.70 0.0 0.0185 0.0
a 0.0
a 0.0
8 O kWh 0.0 9.97 0.0 0.4890 0.0
22 8 O kWh 0.0 9.28 0.0 0.4890 0.0
O kwh | 115,728.0 9.76 1,129.5 0.4890 56.6
17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,595.6 79.8
O m® 2,676.0 0.2660 0.7
O m 2,676.0 0.4000 1.1
1.8
=( /1,000)x
x x )/1,000
= / )% 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 1 0 1
1 1 6 0 0 0 3
3,804.66 | m? m 1
- O |
[ ] O O
O O O
O O [ ]
8 5 4 1 O O
O O
2020
= x 0.0258 190
= 370
i} 6
+ 376
2
< 1000/ 97.2 [kg-CO,/m
GJ
=( /1000)x x 44/12
] Nm® 38,544.4 | 45.00 1,734.5 0.0136 86.5
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh | 580,593.0 9.76 5,666.6 | 0.4890 283.9
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
7,401.1 370.4
O m® 10,366.0 0.2660 2.8
O m 10,366.0 0.4000 4.1
6.9
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0O 1 0 7
1 1 6 0 0 0 3
1,720.66 | m? 1 o1
- O |
[ | O O
O O O
O O [ ]
8 5 3 1 O O [ ]
O O O
2020
= x 0.0258 73 ki
= 142 |t
i} 1]t
=+ 143 |t
2
= x 1000/ 82.5 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm? 0.0 | 45.00 0.0| 0.0136 0.0
LPG O kg 0.0 | 50.80 0.0 o0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh| 290,913.0 9.76 2,839.3 | 0.4890 142.3
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
2,839.3 142.3
O m® 2,973.0 0.2660 0.8
O m 2,973.0 0.4000 1.2
2.0
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E141
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 1 0 9
1 1 6 0 0 0 2
1,767.90 | m? 1 o1
- 0 |
[ ] O O
O O O
O O [ ]
8 2 1 9 O O [ ]
O O O
2020
= x 0.0258 40 |ki
= 78 |t
i} 0t
= + 78 t
2
1000/ 44.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 0.0 | 45.00 0.0| 0.0136 0.0
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh| 161,275.0 9.76 1,574.0 [ 0.4890 78.9
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,574.0 78.9
O m® 558.0 0.2660 0.1
O m 558.0 0.4000 0.2
0.4
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 1 1 3
1 1 6 0 0 1 1
2,223.00 | m? m 1 O 1
- O |
[ | O O
O O O
O O [ ]
8 2 1 9 O O [ ]
O O O
2020
= x 0.0258 37 ki
= 730t
i} 0t
= + 73 t
2
= x 1000/ 32.8 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm? 0.0 | 45.00 0.0| 0.0136 0.0
LPG O kg 0.0 | 50.80 0.0 o0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kWh 0.0 9.28 0.0 0.4890 0.0
O | kwh| 149,925.0 9.76 1,463.3  0.4890 73.3
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,463.3 73.3
O m® 408.0 0.2660 0.1
O m 408.0 0.4000 0.2
0.3
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E141
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 1 2 4
1 1 6 0 0 1 3
934.23 | m? 1 o1
- O |
[ ] O O
O O O
O O [ ]
8 5 3 1 O O [ ]
O O O
2020
= x 0.0258 39 |kI
= 76 |t
i} 1]t
= + 77 t
2
= x 1000/ 81.3 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 2,830.4 | 45.00 127.4| 0.0136 6.4
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 | 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O kWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O kWh 0.0 9.28 0.0 | 0.4890 0.0
O kwh [ 143,719.0 9.76 1,402.7 | 0.4890 70.3
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,530.1 76.6
O m® 2,879.0 0.2660 0.8
O m 2,879.0 0.4000 1.2
1.9
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 01 2 6
1 1 6 0 0 0 2
2,970.35 | m? m 1
- |
n O
O O O
O O | |
8 2 1 9 O O
O O
2020
= x 0.0258 45
- 89
) 1
+ 90
2
x 1000/ 29.9 1kg-CO,/m
GlJ
=( /1000)x x 44/12
o | Nmd 3,509.0 [ 45.00 157.9 | 0.0136 7.9
LPG O kg 0.0 | 50.80 0.0 0.0161 0.0
O L 0.0 36.70 0.0 0.0185 0.0
O 0.0
O 0.0
8 O | kwh 0.0 9.97 0.0| 0.4890 0.0
22 O | kwh 00| 9.28 0.0 0.4890 0.0
O | kwh| 166,089.0| 9.76 1,621.0 | 0.4890 81.2
17 3 kWh 00| 9.76 0.0| 0.4890 0.0
1,778.9 89.1
O me 1,783.0 0.2660 0.5
O me 1,783.0 0.4000 0.7
1.2
=( /1,000)x
x x )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 12 8
1 1 6 0 0 1 1
4,493.12 | m? 1
- O |
[ ] O O
O O O
O O [ ]
8 0 4 2 O O
O O
2020
= x 0.0258 273
= 530
_ 6
+ 536
2
1000/ 117.9 |kg-CO,/m
GJ
=( /1000)x x 44/12
| Nm® 67,327.5 | 45.00 3,029.7 0.0136 151.1
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 ] 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 776,709.0 9.76 7,580.7 0.4890 379.8
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
10,610.4 530.9
| m® 10,393.0 0.2660 2.8
| m 10,393.0 0.4000 4.2
6.9
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0/9/4]0 01 2 9
1 1 6 0 0 0 3
5,270.69 | m? 1 o1
- O |
[ ] O O
O O O
O O n
8 2 1 2 O | ]
O O O
2020
= x 0.0258 213 kI
= 415 It
i} 1t
=+ 416 |t
2
1000/ 78.7 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.0136 0.0
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 ] 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 849,226.0 9.76 8,288.4 0.4890 415.3
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
8,288.4 415.3
| m® 2,709.0 0.2660 0.7
| m 2,709.0 0.4000 1.1
1.8
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C110
C125
Cl114
D101 D102
D103 D104
D105 D108
E103 E101
E104
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0/9/4]0 01 1 1
1 1 6 0 0 0 3
1,496.55 | m® 1 O 1
- O |
[ O O
O O
O | O
8 2 1 9 O | [
] ] O
2020
= x 0.0258 35 [kl
= 69 It
i} 0t
= + 69 t
2
1000/ 46.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.0136 0.0
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 ] 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwWh | 141,649.0 9.76 1,382.5 0.4890 69.3
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,382.5 69.3
| m® 632.0 0.2660 0.2
| m 632.0 0.4000 0.3
0.4
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 94 0 0 0 2|2
111 6 0 0 0]2
476.71 | m? 1 O 1
n O |
| O O
O O
O | O
8 0 5|1 O O [
O O O
2020
= x 0.0258 30 |k
= 60 |t
i} 41t
=+ 64 |t
2
= x 1000/ 125.8 Jkg-CO,/m
GJ
t
=( /1000)x = x  x44/12
O | Nm® 0.0 [ 45.00 0.0 [ 0.0136 0.0
LPG O kg 321.6 | 50.80 16.3 | 0.0161 1.0
O L 627.0 | 36.70 23.0( 0.0185 1.6
O 0.0
O 0.0
8 22 O | kwh 0.0| 9.97 0.0 [ 0.4890 0.0
22 8 O | kwh 0.0| 9.28 0.0 [ 0.4890 0.0
O | kwh| 118,899.0 | 9.76 1,160.5 | 0.4890 58.1
5 17 3 kwh 0.0 9.76 0.0 [ 0.4890 0.0
1,199.8 60.7
O m? 7,115.0 0.2660 1.9
O m* 7,115.0 0.4000 2.8
4.7
=( /1,000)x
=( x X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 0 5 6
1 1 6 0 0 0 2
786.26 | m? 1 o1
- O |
[ ] O O
O O O
O O [ ]
8 5 3 1 O O [ ]
O O O
2020
= x 0.0258 36 |kI
= 70 |t
i} 1]t
= + 71 t
2
= x 1000/ 89.0 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 5,034.3 | 45.00 226.5| 0.0136 11.3
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 | 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O kWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O kWh 0.0 9.28 0.0 | 0.4890 0.0
O kwh [ 121,247.0 9.76 1,183.4 | 0.4890 59.3
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,409.9 70.6
O m® 2,528.0 0.2660 0.7
O m 2,528.0 0.4000 1.0
1.7
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 09 4 0 0/ 1 3 3
1 1 6 0/ 0 1 4
2,025.00 | m? m 1 o1
- 0 |
n O O
O O O
O O =
8 5 3 1 O O ]
O O O
2020
= x 0.0258 32 |k
= 62 |t
) 1]t
= + 63 t
2
= x 1000/ 30.6 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
o | Nmd 3,282.8 | 45.00 147.7 | 0.0136 7.4
LPG | kg 0.0 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 112,419.0 9.76 1,097.2 0.4890 55.0
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,244.9 62.3
| m® 2,687.0 0.2660 0.7
| m® 2,687.0 0.4000 1.1
1.8
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0/9/4]0 0 1 1 2
1 1 6 0 0 0 1
1,496.30 | m? LI 01
- O |
[ ] O O
O O
O [ | O
8 2 1 9 O | ]
O O O
2020
= x 0.0258 35 [kl
= 69 It
i} 0t
= + 69 t
2
1000/ 46.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.0136 0.0
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 ] 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 141,432.0 9.76 1,380.4 0.4890 69.2
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,380.4 69.2
| m® 273.0 0.2660 0.1
| m 273.0 0.4000 0.1
0.2
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 0/ 1 5
1 1 6 0 0 0 2
9,542.00 | m? 1
. |
n O
O O O
O O [ ]
8 0 2 2 O O
O O
2020
= x 0.0258 260
= 504
i} 3
+ 507
2
< 1000/ 52.8 |kg-CO,/m
GJ
=( /1000)x x 44/12
O Nm® 80,025.5 | 45.00 3,601.1 | 0.0136 179.6
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 O | kWh 0.0 9.97 0.0 0.4890 0.0
22 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh| 665,150.0 9.76 6,491.9 | 0.4890 325.3
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
10,093.0 504.8
O m® 4,739.0 0.2660 1.3
O m 4,739.0 0.4000 1.9
3.2
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 1 3 4
1 1 6 0 0 0 3
1,578.00 | m? 1 O
- |
] O
O O
O [ ] O
8 8 1 6 O O [ ]
O O
2020
= x 0.0258 64 1kl
= 125 |t
i} 0t
N 125 |t
2
< 1000/ 79.2 Jkg-CO,/m
GJ
=( /1000)x = x  x 44/12
O Nm® 30,773.5 | 45.00 1,384.8 0.0136 69.1
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 | 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 O kWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O kWh 0.0 9.28 0.0 | 0.4890 0.0
O kwh | 116,070.0 9.76 1,132.8 | 0.4890 56.8
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,517.6 125.8
O m® 883.0 0.2660 0.2
O m 883.0 0.4000 0.4
0.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 0 4 5
1 1 6 0 0 2
1,853.30 | m? m 1
: |
n 0
0 0 0
0 ] n
9 1/0 9 O d
0 0 O
2020
= x 0.0258 37
- 73
_ 1
+ 74
2
x 1000/ 39.3 Jkg-CO,/m
GJ
=( /1000)x x 44/12
O Nm? 17,085.6 | 45.00 768.9 0.0136 38.3
LPG O kg 0.0 | 50.80 0.0 0.0161 0.0
O L 0.0 36.70 0.0 0.0185 0.0
O 0.0
O 0.0
8 O kWh 0.0 9.97 0.0 0.4890 0.0
22 8 O kWh 0.0 9.28 0.0 0.4890 0.0
O kWh 71,340.0 9.76 696.3 0.4890 34.9
17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,465.1 73.2
O m® 2,093.0 0.2660 0.6
O m 2,093.0 0.4000 0.8
1.4
=( /1,000)x
x x )/1,000
= / )% 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 0 9 1
1 1 6 01 4
1,176.87 | m? 1
: |
™ O
O O O
O O =
8 2 1 9 O O
O O
2020
= x 0.0258 30
_ 0
+ 59
2
x 1000/ 50.1 Jkg-CO,/m
GJ
=( /1000)x x 44/12
| Nm® 15,094.3 | 45.00 679.2 0.0136 33.9
LPG | kg 0.0 | 50.80 0.0 0.0161 0.0
| L 0.0 ] 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 O kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kWh 51,952.0 9.76 507.1 0.4890 25.4
17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,186.3 59.3
| m® 385.0 0.2660 0.1
| m 385.0 0.4000 0.2
0.3
=( /1,000)x
x x )/1,000
= / )% 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 0 1 8
1 1 6 0 0 0 3
1,118.32 | m? 1 o1
- O |
[ O O
[ ] O O
O O O
8 8 1 7 O O [ ]
O O O
2020
= x 0.0258 32 |ki
= 63 |t
i} 1]t
=+ 64 |t
2
= x 1000/ 56.3 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm? 7,110.7 | 45.00 320.0| 0.0136 16.0
LPG O kg 0.0 | 50.80 0.0 o0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh 97,630.0 9.76 952.9 | 0.4890 47.7
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,272.9 63.7
O m® 1,969.0 0.2660 0.5
O m 1,969.0 0.4000 0.8
1.3
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0/9/4]0 0 10 8
1 1 6 0 0 0 3
1,037.45 | m? 1 o1
- 0 |
O O n
O O
O O [ ]
8 2 1 9 O | ]
O O O
2020
= x 0.0258 31 |ki
= 61 |t
i} 0t
= + 61 t
2
1000/ 58.7 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.0136 0.0
LPG | kg 0.0 50.80 0.0 0.0161 0.0
| L 0.0 36.70 0.0 0.0185 0.0
| 0.0
| 0.0
8 22 | kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
| kwh | 126,357.0 9.76 1,233.2 0.4890 61.8
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,233.2 61.8
| m® 505.0 0.2660 0.1
| m 505.0 0.4000 0.2
0.3
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 0 3 9
1 1 6 0 0 0 3
948.33 | m? 1 o1
- O |
[ | O O
O O O
O O [ ]
8 5 4 3 O O [ ]
O O O
2020
= x 0.0258 45 |ki
= 88 [t
i} 1]t
= + 89 t
2
= x 1000/ 92.7 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
] Nm® 11,355.3 | 45.00 511.0 0.0136 25.5
LPG O kg 0.0 | 50.80 0.0 o0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh| 128,947.0 9.76 1,258.5  0.4890 63.1
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
1,769.5 88.5
O m® 2,789.0 0.2660 0.7
O m 2,789.0 0.4000 1.1
1.9
=( /1,000)x
=( X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 0 4 1
1 1 6 0 0 0 2
679.24 | m? 1 o1
- O |
[ ] O O
O O O
O O [ ]
8 5 4 3 O O [ ]
O O O
2020
= x 0.0258 30 |kI
= 58 |t
i} 1]t
= + 59 t
2
= x 1000/ 85.3 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 7,543.8 | 45.00 339.5| 0.0136 16.9
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 | 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O kWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O kWh 0.0 9.28 0.0 | 0.4890 0.0
O kWh 85,247.0 9.76 832.0 | 0.4890 41.7
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,171.5 58.6
O m® 2,588.0 0.2660 0.7
O m 2,588.0 0.4000 1.0
1.7
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 1 3 5
1 1 6 0 0 0 2
10,943.74 | m? m 1 O
- |
n O
O O
O O | |
8 2 1 2 O O ™
O O O
2020
= x 0.0258 382 [kl
- 742 |t
) 3t
- 745 |t
2
1000/ 67.8 |kg-CO,/m
GlJ
=( /1000)x = x  x 44/12
o | Nm®| 39,414.4 | 45.00 1,773.6 | 0.0136 88.4
LPG O kg 0.0 | 50.80 0.0 0.0161 0.0
O L 0.0 36.70 0.0 0.0185 0.0
O 0.0
O 0.0
g8 2 O | kwh 0.0 9.97 0.0| 0.4890 0.0
22 s | O | kwh 00| 9.28 0.0 0.4890 0.0
O | kwh|1,337,852.0| 9.76 | 13,057.4| 0.4890 654.2
5 17 3 kWh 00| 9.76 0.0| 0.4890 0.0
14,831.1 742.7
O me 5,045.0 0.2660 1.3
O me 5,045.0 0.4000 2.0
3.4
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 o1 2 7
1 1 6 0 0 0 3
12,719.35 | m? 1 o1
- |
n O
O O O
O O [ ]
8 0 4 2 O O [ ]
O O O
2020
= x 0.0258 475 |kl
- 921 It
i} 71t
= + 928 t
2
1000/ 72.4 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® | 186,049.1 | 45.00 8,372.2 | 0.0136 417.5
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 0.4890 0.0
O | kwh |1,030,433.0 9.76 10,057.0 | 0.4890 503.9
5 17 3 kWh 0.0 9.76 0.0 0.4890 0.0
18,429.2 921.4
O m® 11,511.0 0.2660 3.1
O m® 11,511.0 0.4000 4.6
7.7
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




0 9 4 0 0 0|5 7
1 1 6 0 0 1 4
1,091.06 | m? m 1
: |
n 0
0 0 0
0 ] n
8 5/3 1 O d
0 O
2020
= x 0.0258 55
= 108
_ 1
+ 109
2
x 1000/ 98.9 Jkg-CO,/m
GJ
=( /1000)x x 44/12
O Nm? 4,141.1 | 45.00 186.4 0.0136 9.3
LPG O kg 0.0 | 50.80 0.0 0.0161 0.0
O L 0.0 36.70 0.0 0.0185 0.0
O 0.0
O 0.0
8 O kWh 0.0 9.97 0.0 0.4890 0.0
22 8 | kWh 0.0 9.28 0.0 0.4890 0.0
O kwh | 202,771.0 9.76 1,979.0 0.4890 99.2
17 3 kWh 0.0 9.76 0.0 0.4890 0.0
2,165.4 108.4
O m® 2,098.0 0.2660 0.6
O m 2,098.0 0.4000 0.8
1.4
=( /1,000)x
x x )/1,000
= / )% 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 1 3 6
1 1 6 0 0 0 2
2,065.25 | m? 1 o1
- O |
[ ] O O
O O O
O O [ ]
8 5 3 9 O O [ ]
O O O
2020
= x 0.0258 53 ki
= 104 1t
i} 1]t
= + 105 t
2
= x 1000/ 50.3 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 2,903.8 | 45.00 130.7 | 0.0136 6.5
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 | 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O kWh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O kWh 0.0 9.28 0.0 | 0.4890 0.0
O kwh [ 199,980.0 9.76 1,951.8  0.4890 97.8
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
2,082.5 104.3
O m® 2,433.0 0.2660 0.6
O m 2,433.0 0.4000 1.0
1.6
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




Al 09|40 0 1 3 7
116 0 0 1 1
1,152.41 | m? m 1 o1
™ O |
| | O O
O O O
O O | |
8 5 5 9 O O ™
O O O
2020
= x 0.0258 44 1Kl
= 85 It
) 1]t
= + 86 t
2
X 1000/ 73.7 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
o | Nmd 6,922.2 | 45.00 311.5| 0.0136 15.5
LPG O kg 0.0 | 50.80 0.0| o0.0161 0.0
O L 0.0| 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
g8 2 O | kwh 00| 9.97 0.0| 0.4890 0.0
22 s | O | kwh 00| 9.28 0.0| 0.4890 0.0
O | kwh| 143,611.0 | 9.76 1,401.6 | 0.4890 70.2
5 17 3 kWh 00| 9.76 0.0| 0.4890 0.0
1,713.1 85.8
O me 1,945.0 0.2660 0.5
O me 1,945.0 0.4000 0.8
1.3
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




A 0 9 4 0 0 0 9 6
1 1 6 0 0 0 2
1,052.72 | m? 1 o1
- O |
[ ] O O
O O O
O O [ ]
8 5 4 9 O O [ ]
O O O
2020
= x 0.0258 34 ki
= 66 |t
i} 1]t
= + 67 t
2
= x 1000/ 62.6 Jkg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 12,276.5 | 45.00 552.4 | 0.0136 27.5
LPG O kg 0.0 | 50.80 0.0| 0.0161 0.0
O L 0.0 | 36.70 0.0| 0.0185 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0 9.97 0.0 | 0.4890 0.0
22 8 O | kwh 0.0 9.28 0.0 | 0.4890 0.0
O | kWh 80,071.0 9.76 781.5| 0.4890 39.2
5 17 3 kWh 0.0 9.76 0.0 | 0.4890 0.0
1,333.9 66.7
O m® 2,046.0 0.2660 0.5
O m 2,046.0 0.4000 0.8
1.4
=( /1,000)x
=( X X )/1,000
= / )x 1,000 =( /1,000)x




A201 A202
A205 A203
A208 A204
A213
B106 B101
B102
B105
C105 C101
C113 C103
C123 C104
C115 C106
C502 C108
C512 C109
C125
C508
C510
D101 D104
D103 D108
D105
E103 E101
E124
O
o] =]
co, "
Co, kg-CO,/m? |CO; t




